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The figures in the margin indicate full marks
Jor the questions

1. Answer any ten from the following as
directed : 1x10=10

weors e R et web freieR Tes fa

(a) Mention one assumption of Harrod-
Domar growth model.

@T-BNR [er =¥y @b wfoyRen Tray
3901

(p) Name one neo-classical growth model.

T-TTIPS REpt =X GOR AW for |
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(d)

(e)

(9)

(v

()
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2

What  is
progress?

feere Bafe Tiw & 3 2

meant by technological

Define average propensity to consume.
TS (o9 2T et frat |
Who introduced the
hypothesis?

G -5 A0 (I BB FfRe 2
Mention one assumption of permanent
income hypothesis.

A S A GO SSYEe S 4 |

life-cycle

Rational expectation model is rglated to
Robert Hall/Friedman.

( Choose the correct answer )

FfEmare AP SR M6 =/ Brocm are
TG |

( o= B0 q1f Sfereq )

What is investment?

e f& 2

What is liquidity preference?
w1 A 2

( Continued )

G

(k)

)

(m)

(n)

(0)

(3)

What is meant by fiscal policy?
e A feea [ @ 2

What is Ricardian equivalence?

ey e 2

What is meant by active monetary
policy?

ey T Mo & Jwm 2

Who are the classicists?

REWTTe (G (@ ?

Did Keynes believe in full employment
equilibrium?

I "fr s SeeTrere e SRR ?

Name one new Keynesian economist.

I T (RO FYAS = A4

2. Answer any five from the following

questions : 2x5=10
Soq e & e <fob Ted
(a) What is the golden rule?
oTenan o & 2
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(b)

()

(d)

(e)

(9)

(n) Mention two features of classical
1 macroeconomic thought.
HeRIPIS STHEAM SRYRT TB1 Cafi®y Seaey < |
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(4)

What is meant by endogenous growth?

wEsiere R Jfeca & gom 2

Mention two  differences between
Harrod-Domar model and Solow model.

@UT-TIR WX WF 5 wfEd AeR 7ol
AN TEY 40|

Why marginal propensity to consume
cannot be greater than one?

e o dETel R 9Fele @R 3’9
CAIEICE ?

What is random walk of consumption
expenditure?

o1 TR AT (s 2

Mention two monetary policy targets.
T T 701 =7 Seay 4 |

Mention two differences between

classical and Keynesian thoughts.

TS SIF 2PN SRR T 51 1
TCEY 911

(S)

3. Answer any four from the following
questions : 5x4=20

e 2NERE R @l vifkte Tew o

(a) What are the two effects of investment
according to Harrod-Domar model?

Explain.

@@s-v'IR Wi PR RRwEeR B e
&2 w1

(b) Explain Keynes’ psychological law of
consumption.

(FEA (199 TBGF SGCo! T 47 |

(c) Explain the elements of endogenous
growth.

weiTe RPPE SAMPTR 101 9 |

(d) What are the limitations of Harrod-
Domar model? Explain.

(RS- AR W SRmernR & fF 2
ol

(e) Explain the concept of inventory
investment.

TSI RS GEae IR0 9

22A/1120 ( Turn Over )



(6)

(f/ Explain the time consistency problem of
monetary policy.

@ ST S-S EPTA ST 100 3547 |

(g) Distinguish between external and
internal government debt.

BT IF oA 5T A TSR A1
ool %1 |

(h) Explain the main features of new
classical macroeconomic thought.

T RERS AR SReRE 3= [SIREIHPR
A F |

4. Answer any four from the following
questions : 10x4=40

g 4R R @A oifSeR Tes iy

(a) Critically discuss the Solow model of
economic growth.

wtfes 9 B DT e S
Sc i

(b) Discuss F‘ishe.r’s theory of optimal inter-
temporal choice.

frorq P ABTRS 2w gL gty
4 |
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()

(@)

(e)

(g)

()

22A/1120

(7))

Discuss the Keynesian consumption
function.

(FZA (19 FEFCO! SACAo1 T4 |

Critically  discuss the life-cycle
hypothesis.

GRA-5F SEHACD] AL FHZFICI S
901

Is permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

TR WA SEHAG G50GOS THO

@ 2 A F41 |

Discuss the determinants of business
fixed investment.

Ty B9 R ez el 941 |

What are the motives of demand for
money according to Keynes? Discuss.

@pd oo Jur ok SR R R
ST <1 |

Discuss the objectives of monetary
policy.

T ST STRPER S 9 |
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(8)

(i) Discuss the main features of Keynesian
thought.

DI ORYAR To (AFRFTR SICEsa 1 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

TARAM SEWeR 9 (Swow 31 Ty
RER To1 SoePTR. SCEsa 37 |
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